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CLEAR:CLS
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520 IF BOQP {1y 1 THER 860

530 THPUT #1,Y1,%1,B,C,D,¥2,%2,E,HN
40 1F 5=3 GQTQ 57D

550 IF C=5 GOTCQ 570

561 GOQTCG 520

5%0
530y
590
S5O0 MY

510 GOSUR 2180

B0 Y AN

530 HeE2

GAD GGBUBR 2130

650 X5 A/

B0 AeYR

570 GOSURB 2180

BB Y5 =AM

BON X3« (¥4 N5 ¥3+(Y4 -Y5)

THOOACBRSIODDY

F10 GOBUR 223

Fan B1:AS

73 AR 10000

74D GOSUBR 223D

750 E1:=A5

THO BBl B

70 Re138245QR{{3¢.808)"2+Y372)

TN R1=1852xARS{Y3)

SO0 IF ¥3<0 AND Y3«<0 THEHM RKR:-RR+D

S10 IF X390 AND Y3 -0 THEN RR=150D -RR

20 IF ¥3:0 AKRD Y3:0 THEW RR=180+REK

B30 IT X3 -0 AMD Y3<0 THEMW RR=3650) RE

340 LPRINT USIRG #8848, N @88 4884, £ HEE HEdN, FHEHHY i,
BN, NS HEEE L B BRI BERY B9 i
#RHREE, (m) R POHLOYTL,EVL B, C, D, Y2, B, RLER

350 GOTO 520

B0 CLOSE #1

370 GOTO 19

218D

f} 3 O R E M _;‘ V4 }"“; /‘\, z‘ “’ ,' ;ﬁ [ - e HE N T i I T TR e e M O e e e L i T i e L H e T e 1
B30 CLE:CLEAR
900 LOCATE 5, 6:PRINT "wws Wil ooamfa’y wxal

10 LOCATE 5,8 INPUT "IpikiXi=" ;68
920 LOCATE 5,10 INPUT "3VH7RAN5=" N
930 MeN-1

940 CPEN GF FOR APPEND AS #1

350 CLS

960 TNPUT "sodaadd F$994 N = "Y1
870 INPUT "FEploydsd bwrd £o= V5 E0
980 INPUT "dodafrynsai” SRS
990 PRINT “didand#d 24 N = ";Y1
D00 PRINT "Hodamdd pod L = ;X1
101D PRINT " avssenwe® RS -
1020 INPUT "SEX = YL Q
1030 IF C=0 GOTCG 1110

1040 INPUT "bamid A7070 = D
1050 INPUT "WA{kAF FHA4 N =";Y2



1080 INPUT "9AHK4F poid E= ";X2

1070 INPUT "#{5EynTat® ="k

1080 N=N+1

1D90 PRINT #1,Y1,%1,B,C,D,¥Y2,X2,E,N

1100 6QGTC 1020

1110 CLOSE #1

1120 6OTG 1D

IR B A R L R R EEE PR E R EEEEEEEEEEEEEEEEEE R
1140 CLS:CLEAR

1150 CLEAR 2000

1160 DIM ¥1(300),Y1(300),B(500),C{500),D(500),X2(300),Y2(300),
E{300),N{300)

1170 LOCATE 5,4 :PRINT "7F7-& 0 L9t "

1180 LOCATE 5,5 :INPUT "Ip{fdd=";68

T190 REMW 7ol M5 SETTE oo 90 o g 9o d b o oo g ok ok gk ok b @k ok
1200 CGPEN 63 FOQR INPUT AS #1

210 =1

1220 INPUT #1,Y1{I),¥V(1),B(T)Y,C(I), D), Y2{1),%X2(1),EQI), N(1)
1230 IF By {1) THEN 1250

1240 I=1+1:6G0TGQ 1220

1250 M=1:CLOSE #1

TR60 REM F7 -8 WF {0 asokododoaos b ok f koo 8 o8 808 8 i ok kol b ok 8k koo e
270 CLS

1280 LOCATE 3,3:PRINT sswxw 778 23090 swwesrers”

1290 LOCATE 3,4 sPRINT "7 -RA0"  H:T =D

1300 LOCATE 3,8 :INPUT "¥#" 2 no «";p

1310 IF P=0 THEN 1580

1320 PRINT " No Frdag {7 Repdanynree” A
LamEn e Bk {7 AR wFRHT e gt

1330 PRINT USTHNG "#4dl, N 88, #{8#, Lo, g, #aadyg, W,
$ugay, WoRad . $8as, L 3 8898, #8888 NP Y1 (PY, N1 (P)Y  BOPY,
C{PY,R{P)Y,Y2(P)Y,X2(P),E(P)

T DRSS R R R A R NS PR A E R EEFEREEREEEEEEEEREEEEEEEEEEESE]E:

1350 LOCATE 3,11 :PRINT "3amt( 0 Jawqi *

1380 LOCATE 3,11 cIHPUT “0:#a5 1A% 29007 8" ;8

1370 I 5«0 THEN 1270

1380 XP 3=1 THEN 1420

1380 IF 5=2 THEN 1820

AN GOQTO 1380

14710 REM N7 s b wobos g0 ok 80h 808 g0k 4008 8 0k 900 gk g ek

1420 PRINT "Moo ";N{P)Y;Y: =" INPUT HW(P)

1430 PRINT "smodarr {7 $24 N ", YU(P)y;"een"; o INPUT Y1{P)

1440 PRINT “d0pdary AF b0 B "X 1Py Mew oV o THPUT 21(F)

1450 PRINT "Hddan $h wp® HOR{FY; Mer " s INPUT B(R)
1480 PRINT “wA{n"W Yo CPYy ;=" D INPUT C{P)

1470 PRINT “Lmmdd AYWIT0 PaD{PY;Men s INPUT D(F)
1480 PRINT "9k (% BrA N Y YR({P)y ;Yeer";  INPUT Y2(P
1490 PRINT "94% {7 Pasd B OV E2(PY; Mer oty s INPUT X2(P
1500 PRINT "9dif s»h wt” PR APy tee s INPUT E(P)
1510 GOTO 1270

TH20 REM U250 5 kodokokoh 90 bk 0 kok & 809 8 8ok ok gokod g o ok e ok

1530 FOR J=P TG M-I

1540 ¥1(J)y=X1{IJ+ 1) Y1 {ID=YT{I+1):B{I)«B{I+1):C(Iy=C{I+1):D(I)
YO EEDES VST CEGER DER F XS DER §-S RN SN V)] ECI+HVY s NCIY=H{T4 1)
1550 NEXT
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i 1
1580
1800
iB310
1620
1530
1540
1850
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1670
1580
1630
1700
1710
1720
173D
1740
1750
T
1760
17970
1780
17380
1800
1310
1820
1830
1840
1350
15860
18570
1880
1890
P,
1900
1910
1920
13830
1940
1950
1960
1870
1980
1990
2000
2010
2020
2030
2D40
2050
2060

XT(HY=0:Y1(M)=0:B(M)=0 :C{(M)=0 :D(M)=0:X2(M)=0:Y2(M)=0:E
(M)=0:N(M)=D:H=M 1

6QATQ 1270

REM Al AN h¥EIE R S S S S S EE R S

QGPEN 6% FOR OUTPUT AS 1
FOR I=1 TO M
N{I)=1

PRINT #1,Y1(1),X1(I),B(I),C(1),D{I),Y2(1),X2(1),E(1),N(L)

NEXT I

CLOSE #1

GOTO 1D

REM H{R™ Y2t

CLS 3:CLEAR

CONSOQLE 0,25,0

SCREEN 3,0,0,1

WINDGW (0,0) (400,300}

VIEW (40,48) (359,351),0,0

INPUT "Jp{hi{"; 6%

INPUT “2R{1) or XAR{2) or AR -AR(3) ";5
LPRINT "7p4b%d =",6$;" #AA(1) HE(2) AR *A(3

)
IHPUT "COLOR = {D:20 1:74 2:70 3:4539% 4:851 70 6.

)“;l}

OPEN G§ FOR INPUT AS #1

IF EOF{1)=-1 THEN 1880

INPUT #1 ,¥1,%¥1,B,C,D,Y2,%2,E,N

IF 5=3 6QTQ 1§20

I C=% GQTO 1820
GOQTQ 1770

DS

GOQSUR 2180

Xa=Ap

D

GOSUR 2180

MY

Pe5

LINE ({(¥4 133.5)*600-P, (36 Ya)=600+P+1 .3} ((¥%4
M5 Y4 eE00 Pl 35,0, B

L )

GOSUR 2180

E5 a0,

H=Y2

GOSUER 2130

Y5 =AM

CIRCLE [({¥5 133.53+600, (38 -Y5)«600),2,U
GOTC 177D

CLOSE #1

IHPUT 20%"% (1)
IF 521 GOTCQ 1720
CLE 1

LINE (0,0)-(400,300),1,B

LINE (D,0) -(D,300),1,,

LINE (100,0)--(100,300),1,,&HE6686
LINE (200,0)-(200,300),1,,&H60665
LINE {(300,0)-(300,300),1,,

or ATF (D) V8
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B %A
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2070
2080
2090
2100
2110
2120
1ot
2130
2140
2150
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2170
2180
21980
2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400

LINE (400,0)-{400,3003,1,,

LINE (0,0)-(400,0),1,,

LINE (D,100)-{400,100),1,,&HB668

LINE (0,200)-(400,200),1,,&HB685

LINE (0,300)-{400,300),1,,&H8686

LOCATE 3,22:PRINT "133730 40" 50"

LOCATE
LOCATE
LOCATE O,
LOCATE 0,
GOTO 2170
B1=INT(A)
Cl={A~-B1)*100

D1=C1/860

Af=B1+D1

RETURN

A= INT(A) 59

A2=INT(A*100) -TNT(A)*1DD
A3=TNT (A% 10D)

A4z TNT(A*10000) - INT{A®100) =100
IF A2=1 THEN A3=0

ae

:PRINT "35°30""
:PRINT "357°40"'"
:PRINT "35°50°'"
sPRINT "38°00°""

%
—

OO o
W W G -

ir 2 THEN A3x31
IF =3 THEN A3=59
IF -4 THEN A3-380
I a2=5 THEN A3=120)
IF A2+8 THEN A3+15061
Ir A2=% THEN A3=131

I A2:3 THEN A3=212
IT A2=9 THEN A3=2473
IF A2:10 THEN A
1P a2=11 THREN Al
IF A2:12 THEN A3-334
AS=AT 2365143144
RETURH
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